' . REVISIONS
. 131"X3 1/4" TOE NAILED 2'WASHER | « ANCHOR TABLE M
7116" 0SB ROOF SHEATHING UNBLOCKED 2" WASHER w&?aﬁ%men THRU ! SPH_@48" 0C i,
NAILED TO ROOF FRAMING w/ KING STUD INTO HEADER . OBTAIN UPLIFT REQUIREMENTS FROM TRUSS TRUSSES: TRUSSES SHALL BE DESIGNED BY A FLORIDA LICENSED ENGINEER IN
.113" X 2 3/8" RING SHANK NAILS [ [ MANUFACTURER'S ENGINEERING ACCORDANCE WITH THE FBCR 2007. TRUSS ENGINEERING SHALL INCLUDE TRUSS
@ 6° OC ON EDGES & INTERMEDIATE SUPPORTS ‘ " » ! DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS,
4" OC ON GABLES u H [ i 1 TOR LIFT SYP | UPLIFT SPF | F1 SYP | F2 SYP | F1 SPF | F2 SPF | TO RAFTER/TRUSS | TO PLATES TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR
| i Vi . ¥ X TRIMS Criuee e . . ALL BEARING LOCATIONS. TRUSS ENGINEERING IS THE RESPONSIBILITY OF THE
ENGINEERED TRUSSES ' SPH_@48'0c | : 'y ' H5 455 265 15 | 200 | 100 | 170 4-8dx 1172 4-8dx 1 1/2 TRUSS MANUFACTURER AND SHALL BE SIGNED & SEALED BY THE MANUFACTURER'S
ATTACH PER TRUSS UPLIFT l i - | i i o | 105 | 140 a8dx112 28dx 112" DESIGN ENGINEER. IT IS THE BUILDER'S RESPONSIBILITY VERIFY THE TRUSS DESIGNER
| i i h ! N B H3 415 290 125 | 18 * EXTERIOR WALL STUD TABLE FULLY SATISFIED ALL THE ABOVE REQUIREMENTS AND TO SELECT UPLIFT CONNECTIONS
TRUSS TO TOP PLATE ) 13 £ I L= 4 ™Y 215 365 150 | 150 | 130 | 130 58dx11/2" 5-8dx11/2" AL AN e ARl EVal”l T BASED ON TRUSS ENGINEERING UPLIFT AND PROVIDE FOOTINGS FOR INTERIOR BEARING
(4) .131"X3" TOE NAILS \ | : ol | T | s7a18 @48* oc 1 : WALLS, BUILDER IS TO FURNISH TRUSS ENGINEERING TO WIND LOAD ENGINEER FOR
) 1) N ; i & H2.5A 480 480 10 | 110 [ 110 | 110 5-8dx 11/2" 58dx 11/2" FOR SPF #2 STUDS REVIEW OF TRUSS REACTIONS ON THE BUILDING STRUCTURE. STRAP 2X6 RAFTERS
2" WASHER - N---—-- o — o il o smcesgrsirer. d | e P o R —— WITH MIN UPLIFT CONNECTION 415LB EACH END; 2X8 RAFTERS 700 LB EACH END.
i el | ; H6 950 820 -
NOTE: ! NOTE: _
(2) 2X_ SYP#2 TOP PLATE IF TRUSS TO WALL STRAPS mgua::lELlfn | e ;‘#ﬁss EOOLO_II_’H PLATH STRAPS ArGE. b — — i Teiaei i (1)2x4 @ 16" OC | TO 106" STUD HEIGHT SITE PREPARATION: SITE ANALYSIS AND PREPARATION IS NOT PART OF THIS PLAN oot LI
N TO HEADER SPH_ ARE NOT RE - A
3/8" A307 THREADED ROD (SEE PLAN FOR LOCATION) OR - ! THE WALL & SHEATHING H141 1465 1050 515 | 265 | 480 | 245 12-8d x 1 112 13-8d FOUNDATION: CONFIRM THAT THE FOUNDATION DESIGN & SITE CONDITIONS MEET
b oyt o e o TR | IS NAILED TO TOP PLATES w/ 8d 3" OC GRAVITY LOAD REQUIREMENTS (ASSUME 1000 PSF BEARING CAPACGITY UNLESS
Es“ threaded rod, 6" embed in Simpson AT or SET; INSTALLED ON THE EXTERIOR SIDE OF : (NAILING MAY BE STAGGERED) & SHEATHING H14-2 1465 1050 515 | 265 | 480 | 245 12-8d x 1 1/2" 15-8d (1)2x4 @ 12" OC TO 11-7" STUD HEIGHT VISUAL OBSERVATION OR SOILS TEST PROVES OTHERWISE
3/8" x 6.75" Titen HD wicoupler THD37634RC, THE WALL & SHEATHING ) IS NAILED TO HEADER wi (2) ROWS OF 585 | 525 | 505 | 450 8-8dx11/2" 8-8d x 1 1/2" . "
I e 8% ainbiods 4* heavy hax anchor bolt; 6° embec) IS NAILED TO TOP PLATES w! 8d 3" OC | 8d @ 6" OC SPH_ & LSTA18 ARE NOT REQUIRED H10 990 850 CONCRETE: MINIMUM COMPRESSIVE STRENGTH OF CONCRETE AT 28 DAYS, F'c = 3000 PSI.
g 2X_SPF#2 STUDS (S NALED TO HEADER W/ (ZIROWS OF ' 103 i i ol el ) W, Biid =y (1)2x6 @ 16"OC | TO 16-10" STUD HEIGHT WELDED WIRE REINFORCED SLAB: 6" x 6" W1.4 x W1.4, FB = 85KS|, WELDED WIRE
= IS NAILED TO HEADER w . “ |
1 2-10dx11/2° | 10-10dx 1 1/2 REINFORCEMENT FABRIC (W.W.M.) CONFORMING TO ASTM A185: LOCATED IN MIDDLE
SEE STUD TABLE 8d @ 6" OC SPH_ ARE NOT REQUIRED I . H16 e oo OF THE SLAB; SUPPORTED WITH APPROVED MATERIALS OR SUPPORTS AT SPACINGS
e e e o A Y S y '
Y L [[Resramssaitaanosesy | R T T TR H16-2 1470 1265 s 11Uz | o0t e (1)2x6 @ 12'OC | TO 18-7* STUD HEIGHT NOT TO EXCEED 3.
8d @ 6" OC EDGE 12" OC FIELD M.wmnow SILL PLATE ' N N L) " /2"
. | (PER TABLE BELOW) | | X X ' LTS12- LTS20 1000 620 6-10dx11/2" | 6-10dx11 FIBER CONCRETE SLAB: CONCRETE SLABS ON GROUND CONTAINING SYNTHETIC FIBER
1/2" GWB UNBLOC | . ! i < » - REINFORCEMENT. FIBER LENGTH 1/2 INCH TO 2 INCHES. DOSAGE AMOUNTS FROM 0.75
5¢ COOLER NALS @ 7™0C EDGE (0" OC FIELD ToR AL a];"::?;ﬁi Y : X ¥ ¥ MTS12- MTS30 1000 860 710dx 112" | 7-10dx 1112 R TLRIOR DD e T UCA WECHA01, TARE S, TO 1.5 POUNDS PER CUBIC YARD PER THE MANUFACTURER'S RECOMMENDATIONS.
I = ) J "
— 2% PT SYP#2 PLATE Il 2%6 = (6) .131" x 3" NAILS ' : : : : : : : HTS16 - HTS30 1450 1245 12-10d x 1 1/2 12-10d x 1 1/2" RESISTING INTERIOR ZONE WINDLOADS 110 MPH EXPOSURE C. FIBERS TO COMPLY WITH ASTM C 1116. SUPPLIER TO PROVIDE ASTM C 1116
% 1t g ' | 3 ' I STUD SPACINGS SHALL BE MULTIPLIED BY 0.85 FOR FRAMING CERTIFICATION OF COMPLIANCE WHEN REQUESTED BY BUILDING OFFICIAL.
! ADD ADDITIONAL ANCHORS AS REQUIRED || CRIPPLES [FREQUIRED | | . ¥ ¥ ' HEAVY GIRDER TIEDOWNS T FOSNATION LOCATED WITHIN 4 FEET OF CORNERS FOR END ZONE LOADING.
ANCHOR SPACING NOT TO EXCEED 32" OC J | 7 ! 3 ) ) o7 Tt EXAMPLE 16" O.C. x 0.85 = 13.6" O.C CONTROL JOINTS: WHERE SPECIFIED, SAWN CONTROL JOINTS IN SLAB-ON-GRADE SHALL
r ANY OF THE BELOW ANCHORS CAN BE USED - 3181 ROD (SEE PLAN FOR LOCATION) .' % ¥ ' LGT2 2050 1785 | 700 | 170 | 700 | 170 1a- e G BE CUT IN ACCORDANCE WITH ACI 302. JOINTS SHALL BE CUT WITHIN 12 HOURS OF SLAB
" i ¥ L L) J | ] n . .
3% THREADED Ko /e THREADED ROD, & 5 'L i E - ' - LGT3-SDS2.5 3685 2655 | 795 | 410 | 795 | 410 |12-5DS 14" x21/2"| 26-16dS %ﬂ%ﬁ%ﬁgﬁ%ﬁ‘gﬁé i f‘zﬂ_ogoorﬁg.r'-gﬁﬁa T e s
1/2" WEDGE ANCHOR 4060 0 | 675 | 2000 | 675 12-5DS 1/4" x 3" 36-16dS (RECOMMENDED LOCATION OF CONTROL JOINTS IS SUBJECT TO OWNER AND
: DR D HEAD LGT4-SDS3 3860 | 200 4 — CONTRACTOR'S APPROVAL. THE CONTROL JOINTS ARE NOT INTENDED TO PREVENT
! A T 3965 3330 22-10 " CRACKS BUT RATHER TO ENCOURAGE THE SLAB TO CRACK ON A GIVEN LINE,
| SILL PLATE SPANS FOR 10'-0" WALL HEIGHT Me T |
' DESIGN MAX. SPANS FOR SPF #2 BASED ON WFCM HGT-2 10980 6485 W0 il REBAR: ASTM A 615, GRADE 60, DEFORMED BARS, FY = 60 KSI. ALL LAP SPLICES 40 * DB
1.3/4" MIN. EDGE DISTANCE (TYP.) | WIND SPEED [ (1)2x | @24 | (26 | @8 | ABEASZ8 e v e 6100 2.5/8" ANCHOR fgcg% Kg gm)T ::gi ,;:.; QRBEIGEOSCEMENT SHALL BE DETAILED AND PLACED IN
" 90-10 L3 9" ge 4" | FOR OTHER WALL = , UN.O.
. : 90-100 MPH 5-3 7-9 7-8 114 HEIGHTS (H) SILL HGT4 9250 9250 16 -10d 2-5/8" ANCHOR . ) - ‘
(TYP.) EXTERIOR W__AI—L (TYP.) HEADER OPTION: 1 (FLUSHHEADER) 110-120MPH | 44" 66" 6-5" BT | soniiorall Be GLULAM BEAMS: GLB, 24F-V3SP, Fb = 2.4ksi, E = 1800ksi; UNO. SUPPLIER MAY SUPPLY AN
oRY D E w/ RODS : NG ; 130 MPH 40" 60" 5-11" '-g" | DIVIDED BY (H/10) STUD STRAP CONNECTOR TO STUDS ALTERNATE BEAM WITH EQUAL PROPERTIES OR MAY SUBMIT THEIR OWN SIZING CALCS.
ONE STORY WOOD FRAME w OD FRAME w/ RODS i i | i
- DHESIORT NG SSP DOUBLE TOP PLATE | 435 435 3-10d 4-10d ROOF SHEATHING: ALL ROOFS ARE HORIZONTAL DIAPHRAGMS; 7/16" 0SB SHEATHING,
> 2104 UNBLOCKED, APPLIED PERPENDICULAR TO FRAMING, OVER A MINIMUM OF 3 FRAMING
2X4 OUTRIGGER @ 24" O.C. ' SSP SINGLE SILL PLATE | 456 420 il MEMBERS, WITH PANEL EDGES STAGGERED, FASTENED WITH 84 COMMON NAILS
@ ek b d S 6-10d 8-10d (-131), 6"0C PANEL EDGES, 12"0C INTERMEDIATE MEMBERS, GABLE ENDS AND
uUs 5 - - 131), . ‘
7116° 0SB LT Lo Tt DEF SOURETORFIAIE | &5 - DIAPHRAGM BOUNDARY: 4°0C, UNO.
ENGINEERED TRUSSES (4) .131"X3 1/4" TOE NAILS = 5d T
ATTACH PER TRUSS UPLIFT DSP SINGLE SILL PLATE 825 600
T ; S— = —= STRUCTURAL CONNECTORS: MANUFACTURERS AND PRODUCT NUMBER FOR CONNECTORS,
S —— BLOCKING REQUIRED BETWEEN SP1 585 535 4-1 g ANCHORS, AND REINFORCEMENT ARE LISTED FOR EXAMPLE NOT ENDORSEMENT.
AN g IR— G B Ao o, D AN O AT G ey
4 Al sP4 885 760 6-10d x 1 1/2" LOAD CAPACITIES. MANUFACTURER'S INSTALLATION INSTRUCTIONS MUST BE FOLLOWED
4 7 rd 10-10d x 1 1/2" TO ACHIEVE RATED LOADS.
ROOF SHEATHING SPH4 1240 1065 -10d x
@) 131X —/ e GRADE & SPECIES TABLE ANCHOR BOLTS: A-307 ANCHOR BOLTS WITH MINIMUM EMBEDMENT AS SPECIFIED IN
NAILS S SPé 885 760 T ———————— DRAWINGS BUT NO LESS THAN 7" IN CONCRETE OR REINFORCED BOND BEAM OR
2) 2X_ SYP#2 TOP PLATE AL BRACE iy gara | L SPH6 1240 1085 10-10d x 1 1/2" 15" IN GROUTED CMU.
(2)2%_ INSTALL 2X4 SPF#2 DIAGON e . s 1535 110 14-10d ; 6 WASHERS: WASHERS USED WITH 1/2" BOLTS TO BE 2" x 2" x 9/64"; WITH 5/8° BOLTS TO BE
AND NAIL TO BLOCKING AT TOP CHOR LS Fb (psi) | E (10 psi) it 4 . ik .
BOTTOM CHORD AND RAT RUN @6 0.C. e 3" x 3" x 9/64"; WITH 3/4" BOLTS TO BE 3" x 3" x 9/64"; WITH
‘ T LSTA21 1235 1235 16-10d 7/8" BOLTS TO BE 3" x 3" x 5/16" UNO.,
. "0.c.— DIAGONAL 2x8 SYP 1200 1.6
3/8" A307 THREADED ROD (SEE PLAN FOR LOCATION) | 71187088 3d 4/0.C. BE NAILEDTO TIRUSS WEBS €S20 050 i Lot Re NAILS: ALL NAILS ARE COMMON NAILS UNLESS OTHERWISE SPECIFIED OR ACCEPTED
P’ CONNECT TO FOUNDATION w/ _ FOR LEN_?]SQX(‘?E;SJT N PLATE NAILED TO TRUSS Cs16 1705 1705 22-10d 2%10 SYP #2 1050 16 BY FBC TEST REPORTS AS HAVING EQUAL STRUCTURAL VALUES.
- 14" threaded rod, 6" embed in Simpson AT or SET; ATTACH RAT RUN TO— MAY BE BOTTOM CHORD
A . 3/8" x 6.75" Titen HD w/coupler THD37634RC, BLOCKING w/ ) TO 12 Afle UNBRACED wl 131X3 1/4" @ 6" OC STUD ANCHORS TO STUDS TO FOUNDATION
6" embed; %" heavy hex anchor bolt, 6" embed. (4) .131"X3" NAILS (4} 131"X3" uPTO7 =77 1350 1305 8-16d 1/2" ANCHOR 2x12 SYP #2 975 1.6
TOE NAIL TRUSS i e "3“—\ Ty 2310 2310 18-10d x 1 1/2" 5/8" ANCHOR GLB |  24F-V3 SP 2400 18
2X_ SPF#2 STUDS TO TOF,'a_P(‘;’gE 1 EXTERIOR SHEATHING
SEE STUD TABLE 12d@6"0C. HD2A 2175 2570 268" BOLTS SEAEIS LSL | TIMBERSTRAND | 1700 17 '
2X_PT SYP#2 PLATE SIESOR LD HTT16 4175 3695 18-16d 5/8" ANCHOR 73 P e == BUlLDER S RESPONSIB'LI | Y
“
L 2x4x8' RAT RUN NAIL EACH| 32-16d 5/8" ANCHOR 0 :
f S’ALTTTS’ \EELSS CONNECTION w/ (4) .131"X3" NAILS STUDS MUST BE CONTINUOUS HiT22 s o THE BUILDER AND OWNER ARE RESPONSIBLE FOR THE FOLLOWING, WHICH ARE
@{43- 0.C.UN.O. —— BETWEEN POINTS OF ABU44 2200 2200 12-16d 5/8° ANCHOR PSL PARALAM 2900 20 SPECIFICALLY NOT PART OF THE WIND LOAD ENGINEER'S SCOPE OF WORK.
L i LAIERN o ABUBE 2300 2300 12-16d 5/8" ANCHOR CONFIRM SITE CONDITIONS, FOUNDATION BEARING GAPAGITY. GRADE AND
o s 20 2320 18-16d 2-5/8" ANCHOR BACKFILL HEIGHT, WIND SPEED AND DEBRIS ZONE, AND FLOOD ZONE.
ABUSS 23 -
f:;“'::: :fifgg:‘:?om ALy PROVIDE MATERIALS AND CONSTRUCTION TECHNIQUES, WHICH COMPLY
WITH FBCR 2004 REQUIREMENTS FOR THE STATED WIND VELOCITY AND
DESIGN PRESSURES.
" (1) w/ INSTALLATION OF 4-16dS OPTIONAL NAIL HOLES
SPACE RAT RUN & DIAGONAL BRACE 6'-0" O.C. (2) FOR SYP GIRDER & SPF STUDS PROVIDE A CONTINUOUS LOAD PATH FROM TRUSSES TO FOUNDATION. IF YOU
FOR GABLE HEIGHT UP TO 25'-0" 110 MPH, EXP. C, ENCLOSED BELIEVE THE PLAN OMITS A CONTINUOUS LOAD PATH CONNECTION, CALL
INTERIOR BEARING WALL THE WIND LOAD ENGINEER IMMEDIATELY.
(TYP.) INTE s e e (TYP.) GABLE BRACING DETAIL (TYP.) GABLE WALL w/ VAULTED CEILING VERIFY THE TRUSS MANUFACTURER'S SEALED ENGINEERING INCLUDES TRUSS ek ) EHCANEER:
E STORY WOOD FRAME w/ RODS . e = e —— TP e E— DESIGN, PLACEMENT PLANS, TEMPORARY AND PERMANENT BRACING DETAILS, Y, .
On WOOD FRAME WOOD FRAME o TRUSS-TO-TRUSS CONNECTIONS, AND UPLIFT AND REACTION LOADS FOR ALL S oa s, FOR 869, Laks Gty FL 22058,
BEARING LOCATIONS.
) DIMENSIONS:
NAILING @ TOP PLATE TO STUD Stated dimensi
SPLICE " nsions supercede scaled
IgPMFI'ﬁ ;ELICE LENGTH END..NAIL ?R S SPH_@ 1 / 2 GWEE%NB;‘EE D MEM_DEM dimensions. Refer all questions to
SIS T B 4 (;13?:;;; Lo CHANGE IN PLATE HEIGHT SSRERFIMLD 200 7 GG EGE 10 OC FIELD Mark Disosway, P.E. for resolution.
i ' (3) FOR 2X6 INSTALLED HORIZONTALLY THE SEAL ON THESE PLANS FOR COMPLIANCE WITH FBCR 2007, SECTION Do not proceed without clarification.
4) FOR 2X8 " PRE ENGINEERED ROOF TRUSS R301.2.1 IS BASED ON REACTIONS, UPLIFTS, AND BEARING LOCATIONS IN
25] FOR 2X10 (2) 2X_SYP#2 TOP PLATE ose ¢ TRUSS ENGINEERING SUBMITTED TO THE WIND LOAD ENGINEER. IT IS . ND Tty G
r NAILED TOGETHER w/ . SINGLE 2X_ SPF TOP PLATE THE RESPONSIBILITY OF THE BUILDER TO CHECK ALL DETAILS OF THE i e i ki o gl
.131"X3" NAILS @ 8" OC 2X_FULL HEIGHT STUDS (TYP.) >< \ COMPLETE ROOF SYSTEM DESIGN SUBMITTED BY THE TRUSS it et Meoiteriudbina g il
STAGGERED i | \ INTERIOR CEILING AS MANUFACTURER AND HAVE IT SIGNED, AND SEALED BY A DESIGN wzﬁy ght e '":;"”’“9"‘5 HEaance:
g.r' F \ SPECIFIED ON FLOOR PLAN PROFESSIONAL FOR CORRECT APPLICATION OF FBCR 2007 REQUIRED ot ogiod meannygfgr?; o méﬁﬁé‘?ﬁ%"é’aﬁ‘?;?’d
. : , ! * OC @ PANEL EDGES LOADS AND ANY SPECIAL LOADS. THE BUILDER IS RESPONSIBLE TO
E ' ! e i HE RN CONTINUOUS FRAME REVIEW EACH INDIVIDUAL TRUSS MEMBER AND THE TRUSS ROOF the express written permission and cansent
i X ' INSARENH SRE o SiuD . TO TOP PLATE AT SYSTEM AS A WHOLE AND TO PROVIDE RESTRAINT FOR ANY LATERAL of Mark Disosway.
! e v (OR STRAP STUD TO HEADER 20-10d) &d 12" OC NOT @ PANEL EDGES BOTTOM CHORD OF TRUSS
4 i BRACING. THE BUILDER SHOULD USE CARE CHECKING THE ROOF CERTIFIGATION: | hereby certify that | ha
i ¥ X DESIGN BECAUSE THE WIND LOAD ENGINEER IS SPECIFICALLY NOT : | hereby cerlify that | have
————— Sossmoootdooooodioooo RESPONSIBLE FOR THE TRUSS LAYOUT WHICH WAS CREATED BY THE o of e et it i mppllotible
IRt e STUD PACK ) o OUTSIDE CO TRUSS MANUFACTURER AND THE TRUSS DESIGNER ALSO DENIES Wl eroinset ;;‘;;";?ﬁ?’se i
OUTSIDE CORNER.
H:E.IEA EglgLrYLOAD . ¥§Sgg§agggv FOR THE LAYOUT PER NOTES ON THEIR SEALED R3012.3, florida bullding ode
wi .131"X3" NAILS A : residential 2007,
1 s to the best of my knowledge.
@ 6" OC STAGGERED DESIGN DATA
1/2" GWB UNBLOCKED 1 i L st s 5y LIMITATION: Wt&l I‘ H "ﬂw;ﬁl’ one
5d COOLER NAILS building, af gpecifisd o, %,
(OPTION: 1) (OPTION: 2) TOCECE IS 00 TELD WIND LOADS PER FLORIDA BUILDING CODE 2007 RESIDENTIAL, SECTION R301.2.1 AR TR e )
LTT20B, 10-16d (17501b) (2) Mﬁtﬁﬁﬁ#&ﬁg E,;',?JS p (ENCLOSED SIMPLE DIAPHRAGM BUILDINGS WITH FLAT, HIPPED, OR GABLE ROOFS. ' i Ui,
1/2* ANCHOR & SN2 e JIEN T y MEAN ROOF HEIGHT NOT EXCEEDING LEAST HORIZONTAL DIMENSION OR 60 FT: NOT
6" EMBEDMENT OR 5-1/4"X1 N ON UPPER HALF OF HILL OR ESCARPMENT 60FT IN EXP. B, 30FT IN EXP. C AND >10%
(MAY BE RECESSED TO CONCRETE(3000ib) 2X_FULL HEIGHT STUDS (TYP.) — 7 SLOPE AND UNOBSTRUCTED UPWIND FOR 50x HEIGHT OR 1 MILE WHICHEVER IS LESS.)
. BELOW FINISHED FLOOR) = N ALL STUDS TO BE 2X_
CoITILTICTIISRIEEEISLSEIEAE )= SPF NAILED TO TOP BUILDING IS NOT IN THE HIGH VELOCITY HURRICANE ZONE
. vl Ui " / D BOTTOM PLATES
' bl :: ) ) A 0SB 2 i BUILDING IS NOT IN THE WIND-BORNE DEBRIS REGION
NAILING @ SILL PLATE TO STUD | | s 8d 6" OC @ PANEL EDGES 1.) BASIC WIND SPEED = 110 MPH
FRD M SR TOE AL ' ~ 8d 12" OC NOT @ PANEL EDGES
1:}”': x?, mw i ¥ 2.) WIND EXPOSURE = C
3) FO ¥ '
§4} FOR 2X6 i l 3.) WIND IMPORTANCE FACTOR = 1.0
Eg; Egg §§?0 i i \ DE CORNER 4,) BUILDING CATEGORY = ||
[ 1
(3 I I 3 =
J _ ALTERNATE CONNECTION WHERE INGIDE CORNER CONTINUOUS FRAME TO 5) ROOF ANGLE = 1045 DEGREES e
= | FRAMING CEILING DIAPHRAGM DETAIL L T o
P WALL CONNECTIONS XWN‘ 1/2" ANCHOR w ALOWABLE UPLIFT: (TYP') QORNM_ W"—_ 7.) INTERNAL PRESSURE COEFFICIENT = N/A (ENCLOSED BUILDING) Q\"jnstruction
'Y CH SIDE .
. ) - —— OF PLATE JOINT ONE STORY WOOD FRAME w/ RODS 19018 WOOD FRAME 8) COMPONENTS AND CLADDING DESIGN WIND PRESSURES (TABLE R301.2(2))
NE STORY WOOD FRAME B e
= OPTION: T ! OPTION: 2 (POCKETED)
ENGINEERED TRUSSES ! P Zone |Effective Wind Area (ft2) .
ATTACH PER TRUSS UPLIFT o ABHER A 10 100 Lester Residence
NOTE: A 1 |27.8]305 (253 [-25.3
[ 8 IR IOR PR IF TRUSS TO BEAM 8d 6" OC @ PANEL EDGES 2 |27.8 357253 |-305
; BEAM STRAPS ARE NAILED 8d 12" OC NOT @ PANEL EDGES :
5E§,M | Y, TO BEAM SPH_ 2 O'hg -56.8 -56.8
Zze \ i ’ 3 ‘ SRR EASRRD —EXTERIOR WALL 3 |278)357 253 |-30.5 ADDRESS:
P ikisito | 3"NOTCH o 3 O'hg -95.6 -59.3 Columbia County, FL
18-16d TO FACE | SPH_@ 4 30.5 |-33.0 [25.9 |-28.5 .
10-10d TO JOIST | 48" OC g 5 |305 407259 |-31 Mark Disosway P.E.
| : PANEL EDGES ; 7 |25. 8 |
E STRUCTURAL PLAN P : i ot P.O. Box 868
SEES (2) LSTAZ1 : BEAM 8d 12" OC NOT @ PANEL EDGES Doors & Windows |30.5 |-40.7 Lake Ci Florida 32056
wi (8) 16d TO HEADER | Srln 131°X3" NAILS 6" OC 8d 6" OC THIS STUD Worst Case 3 axe Gity,
& (8) 16d TO POST ! TP PLATE 0531 FOR SHEAR TRANSFER (Zone 5, 10 ft2) T Phone: (386) 754 - 5419
! \ Fax: (386) 269 - 4871
v . f
6X6 SYP #2 POST : (DROPPED BEAM) 846 0C @ PANELEDGES ?;77(3;‘39" D;”’ i;: ‘::': (360)
- 8d 12* OC NOT @ PA GES x7 Garage Door |259 |-29.
\ \ A\ S ¢ s PRINTED DATE:
I\ L /— ?2?2?(1 ;gggﬁg:s AN November 14, 2011
= N\ D ADS
/ INTERIOR SHEARWALL — 4R FOCL HEIHT STHDS (TP i DRAWN BY: STRUCTURAL BY:
> FLOOR 40 PSF (ALL OTHER DWELLING ROOMS) Devid Disoaway
// 3/8" A307 THREADED ROD -131°X3" NAILS 12" OC 30 PSF (SLEEPING ROOMS)
'd : bt~  (SEE PLAN FOR LOCATION) e s rs
| CONNEGT TO FOUMDATION w/ ;:’2 cggLEléNmEg = 30 PSF (ATTICS WITH STORAGE)
' %" threaded rod, 6'embed in % 8d 6" OC @ PANEL EDGES
s Simpson AT or SET; 7" OC EDGE 10" OC FIELD Pl AR, Jie @ PANEL EDGES 10 PSF (ATTICS WITHOUT STORAGE, <3:12)
ABU POST BASE l sl Ml A ROOF 20 PSF (FLAT OR <4:12) FINALS DATE:
w/ (12) 16d & 5/8" ANCHOR . WIDOHRIOR 1 110 BeRise, 14Nov11
i 6" embed; %" heavy hiex 16 PSF (4:12 TO <12:12)
' anchor bolt, 6" embzd.
/—zx_ BT SYPI2 P,_ATE_\ P 12 PSF (12:12 AND GREATER) JOB NUMBER:
| STAIRS 40 PSF (ONE & TWO FAMILY DWELLINGS)
- . : b 1111033
; SOIL BEARING CAPACITY 1000PSF DRAWING NUMBER
! NOT IN FLOOD ZONE (BUILDER TO VERIFY) 1
' (TYP.) INTERSECTING WALL FRAMING S-
(TYP.) PORCH POST (TYP.) BEAM TO WALL wmf F‘WET . e OF 3 SHEETS
- il W e ALLOWAIBLE UPLIFT:
ONE STORY WOOD WOOD FRAME w/ RODS s




